Unit 5: Radical Expressions Name: %'Q'VX‘

v
Secondary 3H: 5-1 Notes: Multiplying and Dividing Radicals

Exponent Rules L
= x%xxl = )(‘H'b . x'azxa. x %=
2 x® A=k . (x2)0 = ab
==X (x%)" = X
Find the following roots: Simplify the following:
g = Vopz = 3o
. \/—8—1<q 61 L 9pz =
. ymer= -4 . vapE = alb’
- Ve = 2 . ¥C153=-5a
I*
T + YTeryP=2X ¥
27 3
Write a radical that simplifies to be the following:
= 4q%bicd? = 3x2yY20x322
- \fg\xsjq Zox32_2

\l(o""qv > cd? =m7_0xujq—%z

Radical Expressions
= Definition of a radical:

an express|on _ .
wWith a oot wdex e

= Label the parts of the given radical: x «— Yadican

* Where are they used in real life?

Area
2 vanables




Multiplying Radical Expressions

If V' aand Vb are real numbers, then Va+* Vb= Vab.

Can you simplify the product o_f the rational expressions? Explain.
- V2«6 NO. NOT same index.

- vz = Y = B =
« Y7+¥7 NO. NOt Same [pdex.-
- YZ-¥T6 = SSHo) *

- 2318 2 Y ) = Y20 =0

Writing in Simplest Form Your Turn
=  When we simplify, we are reducing the radical as much = Write the following in
as possible: simplest form:
=  Write the following radical expression in simplest [
form ’ i p . 3 1/?8)(7
*
* ZX Ne ¥
3 3 3|2 $\2.
(s
= Ux J2X
» Simplifying a Product Your Turn
= Inorder to simplify a product, = Write the following product in simplest

we multiply the radicands first,
then simply as much as possible: £ 3 3

* Whrite the following product in " \/45)( y" * \/35xy
simplest form: =J1575x"y

= J72x3y2 x \/10xy3 =S5 Xaja\htj

form:

T20x4
Aé'j 12¢°y°J5y = —V2x2y? « 2}/15x5y
. .

% = =2 Jox’Y3
= —lej 3\]30X

Do we really have it?
* The base of a triangle is V18 cm and its height is V8 cm. Find its area.

A=%bh :
- S(@)(B) £l - (e




» Dividing Radical Expressions

« If Vaand Vb are real numbers and b # 0, then 7= =

NVa _ nja
b

» What is the simplest form of
the quotient?

V18x5 _

-3 S 7

— = 3 gx
. 3162y5 _ 3 \(plgs
3[3y2 5&32‘

Your Turn

3xy? Bx\jl _3—3-
| 4 %
NU R Uxy ,
. _Y20ab S
VasaZb® \(»Ts‘az‘é's
- I
“Ngar  |3ble

Rationalizing the Denominator
= With this method you rewrite the

expression so that there are no

radicals in any denominator and no

Let's Try Another
= What is the simplest form of

= 12ab3c? - ! 26
10a3bc lOC\"

=iy

Rationalize the denominator.

F=m
| G
Fr=mv"
Fmr —:\/2 -
Br . NFr m
N={"™ ~{m m

denominaTor in any radicall ’(ps,tc, = ]— we . b \l(,c,
= \/_ J— 4 \{— \J_- Sa o S \lg
2 : (A -
z (&) Tok=
Soe
The formula F = — guves the centripetal force F of an object of mass m moving along a

circle of radius r, wher'e v is the tangential velocity of the object. Solve the formula for v.
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